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1)  ก����	
�� S = { x |  | x |3 = 1} ���
����
	������������ก����� S 
1.  { x | x3 = 1} 2.  { x | x2 = 1} 
3.  { x | x3 = -1} 4.  { x | x4 = x} 

2)  ก����	
�� S ��$����%�������&'(ก�) 2x3 * 7x2 + 7x * 2 = 0 ./�0ก��&'(�12ก���&�(	��& S  
����ก�����
	�������� 

1.  2.1 2.  2.2 
3.  3.3 4.  3.5 

3)  ก����	
�� A = { x |   | x-1 | ≤ 3-x} 5/6 a ��$�'(�12ก%��(�ก��8'9	��& A %����& a �:;�
�1�0&
	�������� 
1.  (0, 0.5] 2.  (0.5, 1] 
3.  (1, 1.5] 4.  (1.5, 2] 

4)  ก����	
�� A ��$����%�������&�'(ก�) 0
2

)1)(12( ≥
−

−+
x

xx  5/6 B ��$����%�������&�'(ก�) 

2x2 * 7x + 3 < 0 @��A∩B = [c, d) 5/�0 6c * d ����ก�����
	�������� 
1.  4 2.  5 
3.  6 4.  7 

5)  ก����	
�� A = { x | (x2 * 1)(x2 * 3) ≤ 15 } @�� a ��$�'(�12ก%�����:'9	
���� A 5/6 b ��$�'(�12ก 
%��(�ก'9	
���� A 5/�0 (b * a)2 ����ก�����
	�������� 

1.  24 2.  16 
3.  8 4.  4 

6)  ก����	
�� S ��$����%�������&�'(ก�) 0
65

3613
2

24

≥
++

+−

xx
xx  @�� a ��$�G���0���8(�%�����:��8'9	
���� 

S∩(2, ∞) 5/6 b ��$�G���0�/���8(�%��(�ก��8'9	�H8& b∉S 5/�0 a2 * b2 ����ก�����
	�������� 
1.  -9 2.  -5 
3.  5 4.  9 

7)  ก����	
�� ƒ(x) = 3x * 1 5/6 g-1(x) = 






<−
≥

0,

0,
2

2

x

x

x
x   %����& ƒ-1 (g(2) + g(-8)) ����ก�����
	�������� 

1.  3
21−

 2.  3
21+

  

3.  3
21

−
−

 4.  3
21

−
+
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8)  ก����	
�� A = [-2,  -1]∪[1,  2] 5/6 r = {(x, y)∈A x A | x * y = -1} @�� a, b > 0 5/6 a∈Dr, b∈Rr 
5/�0 a+b ����ก�����
	�������� 

1.  2.5 2.  3 
3.  3.5 4.  4 

9)  ก����	
�� ƒ(x) = x2 * 1 �(P8� x∈(-∞, -1]∪[0, 1] 5/6 g(x) = 2x �(P8� x∈(-∞, 0] ���
	��������@;ก 

1.  Rg ⊂ Dƒ  2.  Rƒ ⊂ Dg 

3.  ƒ ��$�QR&กS1�� 1-1 4.  g �(���$�QR&กS1�� 1-1 

10. ก����	
�� ƒ(x) = x - 5 5/6 g(x) = x2  @�� a ��$�G���0�G)2&�H8& g ο ƒ(a) = ƒ ο g(a) 5/�0 (ƒg)(a)  
(�%������ก�����
	�������� 

1.  -25 2.  -18 
3.  18 4.  25 

11. ก����	
�� ƒ(x) = x2 + x + 1 5/6 a, b ��$�%��%&��0 T	:��8 b ≠ 0 @�� ƒ(a+b) = ƒ(a-b) 5/�0 a2 �:;� 

�1�0&
	�������� 

1.  (0, 0.5) 2.  (0.5, 1) 
3.  (1, 1.5) 4.  (1.5, 2) 

12. ก����	
�� r = {(x, y) | x∈[-1, 1] 5/6 y = x2} U2G�)V����%0�(�������� 

ก.  r-1 = {(x, y) | x∈[0, 1] 5/6 y = ± || x } 
�.  ก)�Q��& r 5/6ก)�Q��& r-1 ��	ก�� 2 G9	 
���
	��������@;ก 

1.  ก. @;ก5/6 �. @;ก 2.  ก. @;ก5/6 �. .2	 
3.  ก. .2	5/6 �. @;ก 4.  ก. .2	5/6 �. .2	 

13) ./�0ก��&%��������&�(	��&'(ก�) log3x = 1 + logx9 �:;�
�1�0&
	�������� 
1.  [0,  4) 2.  [4,  8) 
3.  [8,  12) 4.  [12,  16) 

14) %�������&'(ก�) log 2  (4-x) = log2(9-4x) +1 �:;�
�1�0&
	�������� 
1.  [-10,  -6) 2.  [-6,  -2) 
3.  [-2.  2) 4.  [2,  6) 

15) ก����	
�� x, y > 0 @�� xy = yx 5/6 y = 5x 5/�0 %����& x �:;�
�1�0&
	�������� 
1.  [0,  1) 2.  [1,  2) 
3.  [2,  3) 4.  [3,  4) 
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16) ก����	
�� a, b, c > 1 @�� logad = 30, logbd = 50 5/6 logabcd = 15  5/�0%����& logcd ����ก�����
	�������� 
1.  75 2.  90 
3.  120 4.  150 

17) ���&ก�)')��&G���0�%;��0ก 4 �/�ก G�ก�/�T		 0, 1, 2, 3, 7, 8 T	:5��/6G���0���8')��&�H���(�(��/�T		

��/�ก��8����ก���/: G6(�G���0�02Y���8')��&�	�����ก�����
	�������� 

1.  180 2.  156 
3.  144 4.  136 

18) ก����	
�� A = {1, 2, 3, 4} 5/6 B = {a, b, c} ��� S= {ƒ | ƒ: A→B ��$�QR&กS1����80@H&}  
(�G���0�'(�12ก����ก�����
	�������� 

1.  12 2.  24 
3.  36 4.  39 

19) %9V/9& %9V�[� /;ก1�: 5/6/;ก'�0 (��:�8:(%)��%)�0�)��H8&(� 4 %� %P�%9VU�� %9V5(� ��0\�� 5/6���&1�: 

�ก�)G�	��8��8&)��T�]6����)ก/(��8(� 8 ��8��8& T	:
��%9V/9&��8&�2	ก��%9VU�� %9V�[���8&�2	ก��%9V5(�  
/;ก1�:��&%9V/9&��8&�2	ก�����&1�:��&\�� 5/6/;ก'�0��&%9V/9&��8&�2	ก��\�� G6(�G���0�02Y�G�	�	�
����ก�����
	�������� 

1.  96 02Y� 2.  192 02Y� 
3.  288 02Y� 4.  384 02Y� 

20) ���0'�)�))G9@9&5/�0ก�&��H8&�)6ก��	�0: ���0��((6/2 4 @9& ���0�'���� 3 @9& ���0��0��5��& 2 @9& 
���0��'(��� 1 @9& '9�(�:2����0G�กก�&���(� 4 @9& %0�(���G6��$���8G6�	����0%)��9ก1�2	 ����ก�����
	
�������� 

1.  
35

4
 2.  

35

3
 

3.  
5
2

 4.  
4
1

 

21) ก2��25/6'(��ก���UP8��^ )0( 7 %� �����8:0���&G�&�0�		�0:ก�� 
�ก�)%��&5)(��8(�����U�ก 3 �/�& �/�&5)ก
U�ก�	� 3 %� �/�&��8 2 5/6�/�&��8 3 U�ก�	��/�&/6 2 %� U0ก���GH&G��'/�กก��0��
%)G6�	�U�ก�����/�&
	 
%0�(���G6��$���8ก2��25/6'(��G6�	�U�ก�����	�:0ก��
��/�&��8 1 �)P��/�&��8 3 ����ก�����
	�������� 

1.  
21
4  2.  

21
5  

3.  
21

8
 4.  

21

10
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22) ก����	
�� n ��$�G���0���� 
�ก�)'9�(�:2��/� n G���0�U)��(^ ก��G�ก��� {1, 2, `, 2n,} @��%0�(

���G6��$���8G6�	��/�%;����&�(	����ก�� 
20
1  5/�0 %0�(���G6��$���8G6�	��/�%;��U�:& 1 G���0� ����ก�����
	

�������� 

1.  
20
1  2.  

20
3  

3.  
20
9

 4.  
20
11

 

23) G���0���a(��8(�%�����&5�� 100 @H& 999 ��8��)	�0: 2 /&��0 5����)	�0: 3 �(�/&��0(�G���0�����ก�����
	
�������� 
1.  250 2.  283 
3.  300 4.  303 

24) @9&
���H8&�))G9/;กก0�	)''�)����)�8 5 /;ก )'1a�กTก5/� 4 /;ก )'ก�5Q 5/6)'(2��S�:��&/6 2 /;ก 
��ก'9�(�:2�/;กก0�	G�ก@9&
����(� 3 /;ก %0�(���G6��$���8�:2��	�/;กก0�	���&)'ก�����&�(	����ก�� 
���
	�������� 

1.  
143

57  2.  
143

58  
 

3.  
143

59  4.  
143

60  

25) ก����	
�� A =  { (0, n) | n = 1, 2, `,10 } 5/6 B =   { (1, n) | n = 1, 2, `,10 } 
�ก�)�/P�กG9	'�&G9	��8
5�ก���&ก��G�ก��� A 5/6��ก��H8&G9	G�ก��� B �UP8���$�G9	:�	��&);�'�(��/�8:(��)6��� %0�(
���G6��$�G6�	�);�'�(��/�8:(��8(�UP����8 1 ��)�&���0: ����ก�����
	�������� 

1.  
45

8  2.  
45

9  
 

3.  
45

10  4.  
45

11  

26) 
�/2��1�ก(�@9&����'���0 4 %;� '�	�� 3 %;� 5/6'������&2� 2 %;� 5���(��	�G�	�)�:&�0���$�%;�^ @��'9�(�:2�@9&����(� 2 
���& %0�(���G6��$���8G6�	�@9&����'��	�:0ก������ก�����
	�������� 

1.  
2

1  2.  
3

2  
 

3.  
153

43  4.  
153

49  



   

 5 

27) @��%0�(:�0)�b(���&0&ก/( 10 0& (�%���\/�8:�/�%V2�����ก�� 3 5/6(�%0�(5�)�)0�����ก�� 5 5/�0 
./)0(��&UP����80&ก/(���& 10 0&��� (�%������ก�����
	�������� 

1.  90π 2.  95π 

3.  140π 4.  340π 

28) @��  ƒ′ (x) = 3x2 + x * 5  5/6  ƒ(0) = 1 5/�0     ƒ(x)dx (�%������ก�����
	�������� 
 

1.  
3

5  2.  
3

7  
 

3.  
3

2  4.  
3

1  

29) ก����	
�� ƒ(x) = x4 * 3x2 + 7  ƒ ��$�QR&กS1���U28(�����
����
	�������� 

1.  (-3, -2) ∪ (2, 3) 2.  (-3, -2) ∪ (1, 2) 

3.  (-1, 0) ∪ (2, 3) 4.  (-1, 0) ∪ (1, 2) 

30. @��  ƒ′(x) = 













+

xx 3

11
2
1   5/�0%����& lim   

)4()4(
)1()1(

ƒ−+ƒ
ƒ−+ƒ

h

h ����ก�����
	�������� 

1.  1 2.  
5

16  
 

3.  
5

7  4.  
5

1  

31. @�� ƒ, g  5/6 h '�	%/��&ก�� ƒ(1) = g(1) = h(1) = 1 5/6    ƒ′ (1) = g′ (1) = h′ (1) = 2   5/�0 

%����& (ƒg + h)′ (1) ����ก�����
	�������� 
1.  1 2.  2 
3.  4 4.  6 

32. �'���)&�H8&���&\�กก���'��'�(.�'��&�'��T%�&   y = 2x3 - 
x

1  ��8G9	 x = 1 %P��'���)&
����
	�������� 

1.  13x * 2y * 11 = 0 2.  13x + 2y * 15 = 0 
3.  2x - 13y + 11 = 0 4.  2x + 13y - 15 = 0 

33. ก����	
��  A 5��UP����8��&��V��)2�0V��8�f	/��(	�0:�'��T%�& y = 1 * x2 5/65ก� x   

B  5��UP����8��&��V��)2�0V��8
���'��T%�& y = 
4

2

x        ���P�5ก� x G�ก x = -c @H& x = c   

%����& c  ��8���
�� A = B ����ก�����
	��������    

1.  2  2.   2 

3.  22  4.   4 

h →O 

∫∫∫∫
−−−−

1

1

 


